4818757510-20

Circuit breaker thermal-magnetic
R s

EasyPact ™EZC100/125 CVS100E

Interruptor termomagnético
Disjunctor termomagnetico
aBTOMaTM4YecKuUi BbIKrtoyaTenb
TepMOMarHUTHbIN

Schneider Electric Industries SAS
35, rue Joseph Monier

CS 30323

F-92506 Rueil Malmaison Cedex

www.schneider-electric.com
&
]

©2017 Schneider Electric.
All rights reserved.

Scheider

YNONMHOMOYEHHbIV

nocTtaBLMK B PO:

AO «llHengep OnekTpuk»

Appec:

127018, r. Mockga, yr.

OeuHues, A.12, kopn.1,

Ten. +7 (495)777 99 88,

akc: +7 (495)777 99 94, 8-800-200-6446
www.schneider-electric.ru

EAL

™

HAZARD OF ELECTRIC SHOCK, EXPLOSION
OR ARC FLASH

m Apply appropriate personal protective equipment
(PPE) and follow safe electrical work practices. See
NFPA 70E, CSA Z462 or local equivalent.

m This equipment must only be installed and
serviced by qualified electrical personnel.

m Turn off all power supplying this equipment before
working on or inside equipment. Lock the
switchgear in the isolated position.

m Always use a properly rated voltage sensing
device to confirm power is off.

m Install safety barriers and display a danger sign.

m Replace all devices, doors, and covers before
turning on power to this equipment.

Failure to follow these instructions will

result in death or serious injury.

A A DANGER /fgf& / PELIGRO / PERIGO /

The product's manufacture
date is coded
PP-YYYY-Www-D, where:

@ PP: plant code

@ YYYY: year of manufacture
o Www: week of manufacture

@ D: weekday of manufacture
(Monday = 2)

Eg: TH-2014-W19-4 = product
manufactured at plant TH on
Wednesday 7 May 2014

PELIGRO DE DESCARGA ELECTRICA, EXPLOSION O ARCO ELECTRICO

m Utilice el equipo de proteccion personal (PPE) adecuado y siga las recomendaciones para el trabajo seguro con
dispositivos eléctricos. Consulte NFPA 70E, CSA Z462 o la norma local equivalente.

m Solo el personal de electricidad cualificado podra instalar, programar y realizar el mantenimiento del equipo.

m Desconecte toda la alimentacion de este equipo antes de trabajar en él o en su interior. Bloquee |la aparamenta
eléctrica en la posicion de aislamiento.

m Utilice siempre un dispositivo de deteccién de tension de capacidad adecuada para confirmar la ausencia de
alimentacion eléctrica.

m Instale barreras de seguridad y coloque un cartel de peligro.

A data de fabrico do produto
esta sob a forma de codigo
PP-YYYY-Www-D, onde:

@ PP: cddigo da fabrica

® YYYY: ano de fabrico

® Www: semana de fabrico
® D: dia da semana de
fabrico (Segunda-feira = 2)
Ex: TH-2014-W19-4 =
produto fabricado na fabrica
TH na Quarta-feira 7 de Maio
de 2014.

m Vuelva a colocar todos los dispositivos, las puertas y las tapas antes de conectar la alimentacion de este equipo.

Si no se siguen estas instrucciones provocara lesiones graves o incluso la muerte. 77 i R A AR

B BIER BRI R

m ORFE A AR 4 (PPE) ARG L /Al
4. 52 NFPA T0E, CSA 7462 B4Hix)
JSZ ¥ o

w FU B AR BE T ) B AN A R e e R4 1%
B o

m EFRARMIEAN T LIEZ AT, HRAREN4
TR . KT SCBIE AR R B A B .

w G R Al A H P A s A A FR TR G A

w ZRZ IR fakbr s .
w TR I, SRS FAT IR 3

TEfE LRRESBARGT.

PP-YYYY-Www-D, Hrfi:

® PP: 1) fQH5

® YYYY: HiliEEN

® Www: 5L HiE

® D: FMHLiiE
(RE—=2)

i :

TH-2014-W19-4 = iy

T 2014 4£5 H7 HEM=

16 TH ) Hhilid.

RISCO DE ELECTROCUSSAO, DE EXPLOSAO, OU DE ARCO ELECTRICO
m Utilize equipamento de protecgao pessoal (PPE) e siga os métodos de seguranca eléctrica. Consulte NFPA 70E, CSA
Z462 ou o equivalente local.
m Ainstalagdo e manutengdo deste equipamento s6 devem ser efectuadas por electricistas qualificados.
m Desligue todas as fontes de alimentagédo deste equipamento antes de trabalhar no equipamento ou no seu interior.
Bloqueie a placa de distribuigdo na posigao isolada.
m Utilize sempre um dispositivo de detecgdo da tensdo nominal adequada para confirmar se a alimentagédo esta desligada.
m Instale barreiras de seguranca e apresente um sinal de perigo.
m Substitua todos os dispositivos, portas e tampas antes de ligar a alimentagéo deste equipamento.

A nao observancia destas instrucoes resultara em morte, ou ferimentos graves.

La fecha de fabricacion del

producto esta codificada

PP-YYYY-Www-D,

donde:

@ PP: codigo de la planta

® YYYY: aio de fabricacion

® Www: semana de fabricacion

o D: dia de la semana de
fabricacion (lunes = 2)

Ej: TH-2014-W19-4 = producto

fabricado en la planta TH el

miércoles 7 de mayo de 2014.

OMACHOCTb NOPAXXEHUA SNEKTPUYECKMM TOKOM, B3PbIBA N BCNbIWKUAYTN
m VcnonbayiiTe noaxoasiume cpefcTea MHAnBMAayansHoi 3awutel (CUA3) n cobntofaiiTe TeXHUKY
6e3onacHocTu npu anekTpoTexHnyeckux pabotax. Cm. NFPA 70E, CSA Z462 nnu MeCTHbI 3KBUBANEHTHbI
cTaHpapT.
m [laHHoe o6opyaoBaHMe MOryT yCTaHaBIMBaTh U 06CMYXMBaTL TOMBKO KBANMAULMPOBAHHbIE SNEKTPUKM.
m OTkIloYMTe NUTaHVe o Havana paboTbl CHapyXu Unn BHYTpK obopyaosaHus. [NepeBeanTe nepekrtoyaTtens B
130MMpOBaHHOE MOMOXeHNE.
m Bceraa nonbayittech Hagnexallym 4ati4nkoM HOMUHAIBHOTO HanPsHKeHWUst ANs onpefeneHnst oTCyTCTBUS
nuTaHus.
B YCTaHOBUTE 3alLUTHbIE Orpax/aeHUst U 3HaK ONacHOCTU.
| YcTaHoBUTE 06paTHO BCe YCTPOWCTBA, ABEPLIbI U KPbILLKM Nepe/ BKIOYEHMEM NUTaHUS JaHHOro
o6opynoBaHus.

Heco6ntoaeHne aTux MHCTPYKUMIA NpUBEAET K CMepPTH UMK Cepbe3Hoil TpaBMe.

[laTa npoussBoacTBa npoaykTa

3akoavpoBaHa B oopmate

PP-YYYY-Www-D, roe:

@ PP: kon 3aBoaa

@ YYYY: rog npounssoactea

@ WWww: Hepensi npoussofcTBa

@ D: neHb Hegenu, koraa Gbin
npou3BeaeH NpoaykT
(noHeAenbHUK = 2)

Mpumep.

TH-2014-W19-4 = npoaykT

npousseseH Ha 3asope TH

B cpeay, 7 mas 2014 roga.

PLEASE NOTE
Electrical equipment
should be installed,
operated, serviced, and

NOTA
Ainstalagao, utilizagédo e

eléctrico devem ser

maintained efectuadas exclusivamente
only by qualified por

personnel. pessoal qualificado.

No responsibility is A Schneider Electric nao
assumed by assume qualquer

Schneider Electric for any
consequences arising out
of the

use of this material.

responsabilidade pelas

da
utilizagdo deste material.

consequéncias resultantes

manutengéo do equipamento

TENGA EN CUENTA
La instalacion, manejo,
puesta en servicio y
mantenimiento de
equipos eléctricos
deberan ser realizados
solo por personal
cualificado.

Schneider Electric no se
hace responsable de
ninguna de las
consecuencias del uso
de este

material.

PEMOHT 1 obcryxvBaHe

KBaNUOULMPOBAHHBIMM
aneKTprKamm.
HE HECeT HUKaKom

ncnonb3oBaHnA FlaHHOI;I
AOKYyMeHTauuu.

OBPATUTE BHUMAHUE
YcTaHoBKa, aKCnnyaTauus,

aneKTprUYeckoro obopynoBaHus
MOXET BbINOMHATLCA TONbKO
Komnanusi Schneider Electric

OTBETCTBEHHOCTY 3a NMiobble
BO3MOXHblE nocneacTens

BEE
AR S, Bk, 4
ey TARMRT & A
BABAT .
Schneider Electric/Azi{H
TR A BRI SRR AT
i J5 Reo

mm

<50A

M5x13.5 2

50A
M8x135 2

=

M4 x 60 2

Philips n°1, 2 or
slotted screwdriver

EZAROTDS

EZAROTE

BUSBAR




=

H

©
LM@T@
<|g mwwm
H

3|8 ©9—32

A8 o

o) <

cl<

=N

S|<

ls ¢ E
8 £ £
9 3 3
25! =t
N ° ©
N 225 82 3

0
7]
M m

£ ]
= m w

el

~ S

g 4 :

<|8 0 2

o =

LE] // 052

AEPS e

o fe—2z 2

.mH Q, ~ .va.m

HFEEE g%

(AR £ £ « & V)
8 = = Eo (5}
5] o © E 3 o
S oY% % <3 =
2 21 ot 235 N
N @@ . ow <@ [h
Ww &E=a 0 o S

\/ /

A

=N
Ay =,

%

3-pole

i

|

he?

D2 (12 ﬁ
EZAuxi|
% "

] T G
> o Y
I /At T 7 —
Qo of I\ T v
So o v/ y 7
88§56 oY ST
T © © 8 ¥
Sox23 = &
5556 |3
=0200 B §

5.5Nm

1

A2 ﬁ
EZA

M8 x 13.5

%e}szQ :

2

]

-3
T\

-

4-pole
2 EZADINR

Rating < 50A|Rating > 50A

wn
5 ©
2 z
: 2
n
= w
< <
(=] (=}
n w0
v/ A
oo O oo
0| %
['4 4
™
N
© | il Y
I5¢] N

2.
1
>— 50 —=
4-pole
t 4
5+2_6 fa— 96 —»
y :
292 !
.__[____;]:
> 50 =

4-pole

Shunt Tri
EZASSCR

3-pole
Fy
N
o P
52.6 | ™
* |
9.2 1 |
Iy .__T___“__
>+ 25 =

o2
M. N
& R ¥\,
°o | ow o
s i+ # i
|
g LT
© N
N>l
“5\'2
A ©
@ Q L o
[=]
2 L - e o
@ g N
A © |o -~ == B
i >l © Zh
LN el
a o7

1
}

<
— 824
65
61

L
R

EZATSHD3P-EZATSHD4P

mm




